Efficiency vs Dxy(PV)

O E=30-15-10 5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DOM_TT__ornigmal

—— DOM™ TTvmod models4_truthfinal_model TEST-15
—— DQM_TT__mod_models4_truthallhits_model TEST-12

— —— DQM_TT__mod_models4_truthfinal_reg_model TEST-12
[ Efficienc]| —— DOM_TT _mod_models4_truthallhiis_reg_modelTEST-11

< 0.1

1
PV) (cm)

Efficiency vs Dz(PV)

0.1

o o o
o o

iency vs dz(PV)
o

Y SO S SOUUUN S S

10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)
0.5

o

efficiency vs dz(PV)

d - H b1 g
N N 4
i

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


